

S.S.V.P. Sanstha's

Late S.D. Patil Alias Baburao Dada Arts, Commerce and Late Bhausaheb M.D. Sisode Science College

Shindkheda - 425406, Dist. Dhule (M.S.) Tel.: (02566) 222239 web: www.ssvpsacs.ac.in e-mail: ssvps.snk@gmail.com

M.Sc. Ph.D.

Officiating Principal

Ref. No. ACS/SNK/

202

Date:

/ 202

CRITERION VII-INSTITUTIONAL VALUES AND BEST PRACTICES

Bills for the purchase of equipment's for the facilities created under this metric

HAJI MOHAMMADALI HASANALI / INDIA HOME STYLE

MAIN ROAD SHIRPUR/MANDAL, NH6- BURHANPUR ANKLEHV NEAR KALAMSRA BRIDGE SHIRPUR DIST-DHULE 425405

,MB NO-9822886952, 9822130852

GST NO.27AIVPB4648L1ZN



TAX INVOICE

: SSVPS SCHOOL SINKHEDA

SINKHEDA

INVOICE NO.

: HMH2405240001

INVOICE DATE: 24/05/2024

D.C NO

: DC NO-4772

PO NO

VEHICLE NO : MH 19 BM 0814

: 9975151259

Pan No: AACAS0835L

O , : Description of Goods	HSN	GST%	QTY	PEND	RATE	Gross Amt	Disc%	AMOUNT
SUPREME SWR ELBOW 21/2"	39174000	18.00	45.000		70.80	3186.00	38.00 %	1975.32
SUPREME SWR TEE 21/2" X 4"	39174000	18.00	45.000		129.91	5845.95	38.00 %	3624.49
SUPREME SWR ELBOW 45" 21/2"	39174000	18.00	8.000		55.60	444.80	38.00 %	275.78
SUPREME SWR REDUCER 21/2" X 4"	39174000	18.00	4.000		88.00	352.00	38.00 %	218.24
SUPREME SWR ELBOW 4"	39174000	18.00	19.000		143.00	2717.00	38.00 %	1684.54
SUPREME SWR ELBOW 45" 4"	39174000	18.00	8.000		120.40	963.20	38.00 %	597.1
SUPREME SWR DOOR ELBOW 4"	39174000	18.00	2.000		172.10	344.20	38.00 %	213.4
GI CLAMP 4"	73079990	18.00	96.000		10.00	960.00		960.0
KANGAROO CONCRATE NEILS 8 MM		18.00	3.000		120.00	360.00		360.0
ASTRAL SWR LUBRICUNT 100G	34031900	18.00	4.000		25.00	100.00		100.0
SUPREME SWR PIPE 4"	39174000	18.00	70.000		680.50	47635.00	48.00 %	24770.2
SUPREME SWR TEE 4"	39174000	18.00	24.000		189.80	4555.20	38.00 %	2824.2
			· · · · · ·					
		1 7 50					- 415	

ark:	TOTAL 328.000	0.000 67	,463.35 29859 37,603.37
ation-We declare that this invoice shows the actual price of the goods XABLE: tGST#: CGST TAX SGST#: SGST TAX 03.37: 9.00#: 3384.30 9.00#: 3384.30 03.37: 3384.30 3384.30	described and that all particulars are true and correct.	Gross An Discount Net Amo	-29,859.98
at theme . Hot G Dillite	ank A/C No : 13872560000131 ranch : SHIRPUR	OTHER @ DISCOUN CGST	
MARK UD TEMPO	+	SGST	3384.31 UP 0.01

CUSTOMER SIGNATOR PRES - Brooks from the state of the sta

BILL AMOUNT

44.372.00

for HAJI MOHAMMADALI HASANALI / INDIA HOME STYLE

Abboc.

AUTHORISED SIGNATORY

Software by www.ctronsystem.com S.D.Pattl alles Baburao Dada Art., Commerce & Late M.D.Sir.nde Science

Gollege, Shindkhous, Dist. Dhule

तं, म. प्राचार्य, एस.एस.व्ही.पी.एस. आर्टस , कॉमर्स व विज्ञान महाविद्यालय · शिंदखेडा जि. धुळे.

> विषय - प्लमंबींग कामाचे बील मिळणे बाबत.. अर्जदार- तोहीद फरीद शेख

महोदय,

आपल्या महाविद्यालयातील रेन वॉटर हार्वेस्टिंग कामे खालील प्रमाणे केलेली आहे. तरी सदरहु कामाचे बील मिळावे ही विनंती.

	एकुण -			96390/-
12.70			+	
8	पूर्व पश्चिम इमारती वरील रेन वॉटर हार्वेस्टिंग स्टॅण्डपोस्ट फिर्टींग करणे	४३ नग	१५०	६४५०
8	पूर्व पश्चिम इमारती वरील रेन वॉटर हार्वेसिंटग पाईप लाईन फिर्टींग करणे.	३९८ फुट	30	११९४०
अ.क्र.	तपशिल	फुट / नग	दर	एकुण

अक्षरी - अठरा हजार तीनशे नळ्द रुपये मात्र.

Aun 31321Em And doughisTAILE

आपला विश्वासु, गिर्दि तोहीद फरीद शेख

PRINCIPAL

S.S.V.P.S's Late S.D.Pattl alies Beburso Dada Arts. Commerce & Late M.D. Sisone Science Cellage, Shindkines. Dist.Dhule

RDHAMAN CONCRETE PRODUCTS

'Shatrunjay', 44, Mayur Colony, Deopur, DHULE - 424002 (M.S.)

S.T.D.: (02562) TO Office: 236227, Resi.: 224427, Factory: 245588, Mo.: 94222 30444

+ MANUFACTURERS & DEALERS OF +

R.C.C. Spun Pipes, Slotted Pipes, Septic Tanks, Dust Bins, Water Tanks, Interlocking Paving Blocks, Bricks, Chequred Tiles, V Type Gutters, K.M. & Chainage Stones, Mossaic Benches, Compound Poles, Flower Pots, Garden Furniture & Other Concrete Products.

"Type Gutters, K.M. & Chainage Stones, Mossaic Benches, Compound F	CARTIN	GAGEN	Т
	PEH V	मख्, -	Delivery Challan No. 06] ate: 16-7-2024
r.No. Description of Materials	Quantity	Unit of Qty	Remarks
इं २२ लेकिन पेट्स्से ६० मका २० रू			अन्या में
गुक्कर = 1426 म्माः	8.66	<u>जाश</u>	
53 2095 = 14 2 8 9191 =	8.66	न्त्राक्ष	
या केटर = 1456 मेरा :	2 8.66	ब्रास	
4368721	25.00	वारं	
			WEHICLE NO.

Receiver's Signature

For - Vardhaman Concrete

D.Patil alias S.S.V.P.S's La Baburao Dada Arta, Commerce & Late M.D. Sleode Science Collage, Shindkheds. Dist. Dhule

DHAMAN CONCRETE PRODUCTS

'Shatrunjay', 44, Mayur Colony, Deopur, DHULE - 424002 (M.S

S.T.D.: (02562) TO Office: 236227, Resi.: 224427, Factory: 245588, Mo.: 94222 30444

+ MANUFACTURERS & DEALERS OF + R.C.C. Spun Pipes, Slotted Pipes, Septic Tanks, Dust Bins, Water Tanks, Interlocking Paving Blocks, Bricks, Chequred Tiles, V Type Gutters, K.M. & Chainage Stones, Mossaic Benches, Compound Poles, Flower Pots, Garden Furniture & Other Concrete Products.

Type Gutters, K.M. & Chainage Stones.	Mossaic Benches, Compoun	& CARTIN	G AGENT	
Consignor (Sender) 9 4 H	ल को की प्रा	Sarza	प्रस.	0 5 9 e:\5-7-2024
From	of Materials	Quantity	Unit of Qty.	Remarks
Pescription Pescription	ER 60 mm dolk	19		कानेर्यार नं.
131-2095	1456 .078	1=8.66		
23 3095	1456 9	21=8.66		
चित्र कलर	नमडढ न	21-8.66		
	4368 न	11-260	रू छ्रास	
	The state of the s			VEHICLE NO
Delivery at : W)	15051			2716
Received the above ment	tioned materials in g	ood condition	& we have n	o complaint of any

Receiver's Signature

For - Vardhaman Concrete Products

S.S.V.P.8's Late S.D.Patil alles Babureo Dada Arts.Commerce & Late M.D.Sisode Science

Collage, Shindkhada. Dist. Dhule

'Shatrunjay', 44, Mayur Colony, Deopur, DHUL

S.T.D.: (02562) @ Office: 236227, Resi.: 224427, Factory: 245588, Mo.: 94222 30444

R.C.C. Spun Pipes, Slotted Pipes, Septic Tanks, Dust Bins, Water Tanks, Interlocking Paving Blocks, Bricks, Chequred Tiles, V' Type Gutters, K.M. & Chainage Stones, Mossaic Benches, Compound Poles, Flower Pots, Garden Furniture & Other Concrete Products.

Consignor (Sendo	The second secon	डिक्स की आयम की	न्स्,	Delivery Challan No. 062 te:19-07-202
Sr.No.	Description of Materials	Quantity	Unit of Qty.	Remarks
हें ये विकास के प्राप्त के किया कि	8) 1 456 6 6 6 7 1 8 2 - 1456 6 7 31 8 2 - 1456 6 7 31	= 8.66 = 8.66 = 8.66	न्त्र कारम	केलारा डामेर न न न न न न न न न न न न न न न न न न न
Delivery	bove mentioned materials in good			VEHICLE NO. MH8-BZ 2716

Receiver's Signature

- Vardhaman Concrete Products

S.S.V.P.S's Late S.D.Pattl alles Baburae Dada Arts.Commerce & Late M.D.Sisode Science Collage, Shindkheda Oist Dhule

AMAN CONCRETE PRODUCTS

'Shatrunjay', 44, Mayur Colony, Deopur, DHULE - 424002 (M.S.)

S.T.D.: (02562) TO Office: 236227, Resi.: 224427, Factory: 245588, Mo.: 94222 30444

+ MANUFACTURERS & DEALERS OF +

R.C.C. Spun Pipes, Slotted Pipes, Septic Tanks, Dust Bins, Water Tanks, Interlocking Paving Blocks, Bricks, Chequred Tiles, V. Type Gutters, K.M. & Chainage Stones, Mossaic Benches, Compound Poles, Flower Pots, Garden Furniture & Other Concrete Products.

Consignor (Sender) 9 2 H b 90 CD CONSIGNOR (Acceptor) (J 39281.	लाघन्म -	Delivery Challan No. 065 te: 20-7-2024
r.No. Description of Materials	Quantity	Unit of Qty.	Remarks DO 0120/25T-
555 (41.819) does complished	= 8.66	ब्राय	
23 BOZ = 1456 2181	2 8.66	ब्राम	प्राम् द्रामा
येला कल १= 1456 नग	= 8.66	國洲	117-1660
4368 5701	26.00	, ब्राय	
Delivery at: 1917.2021			VEHICLE NO. 10H18-BZ

Receiver's Signature

For - Vardhaman Concrete Products

S.S.V.P.S's Late S.D.Pattl alles Baburao Dada Arts.Commerce & Late M.D. Six nde Science Gollage.Shindkhe. Pist.Dhule

ARDHAMAN CONCRETE PRODUCTS

'Shatrunjay', 44, Mayur Colony, Deopur, DHULE - 424002 (M.S.)

S.T.D.: (02562) @ Office: 236227, Resi.: 224427, Factory: 245588, Mo.: 94222 30444

+ MANUFACTURERS & DEALERS OF +

R.C.C. Spun Pipes, Slotted Pipes, Septic Tanks, Dust Bins, Water Tanks, Interlocking Paving Blocks, Bricks, Chequred Tiles, 'V' Type Gutters, K.M. & Chainage Stones, Mossaic Benches, Compound Poles, Flower Pots, Garden Furniture & Other Concrete Products.

GOVT. CONTRACTORS 8	CARTIN	IG AGEN	Г
Consignor (Sender) 9 4 4 10 6 96 98 98 98 98 98 98 98 98 98 98 98 98 98		1, _	Delivery Challan No. 0 65 te:21-7-2024
Sr.No. Description of Materials	Quantity	Unit of Qty.	Remarks
बर्सिकीं पेस्ट्स 60mm की सिक शिक्ठर = 1456 नग = येडोकेंडर = 1456 नग = मेडोकेंडर = 1456 नग =	8.66 8.66 26.00	व्याभ क्रीभ क्राभ	कानर्थय ने नगर्म १११५ व्ह
Delivery at 19142921 Received the above mentioned materials in good co	ondition & v	ve have no	VEHICLE NO. YOH 8 B Z 27/6 complaint of any kind.

Receiver's Signature

पायिल

7756016771

For - Vardhaman Concrete Products

PRINCIPAL

S.S.V.P.S's Late S.D.Patil alies
Baburao Dade Arts.Commerce &
Late M.D.Sisorie Science
Collage,Shindkhe. Dist.Drule



सिंदखेंडा शाखा, घुले SINDKHEDA BRANCH, DHULE-425406 IFSC: CBIN0281972 **75705** सभी शाखाओं पर देश PAYABLE AT ALL BRANCHES वि सा मा व व य व य व D D WI M Y Y Y Y

या धारक को or Bearer

Par Sanghavi Agencies

रुपये Rupees Four Lakh only

अदा करें

400000 F

खाता सं० A/c. No.

3119951995

SINDKH

Chairman SSVP Sanstha Dhule

Chairman

Collegans Alabhule President, ssyps thule ge Committies Shindkhedan states Shindkhedan states Shindkhedan

151603# 425016526# 000389# 31

PRINCIPAL

S.S.V.P.8's Late S.D.Patti alles Babureo Dada Arts,Commerce & Late M.D.Steode Science Collage,Shindkhede,Dist.Dhule